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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best bﬂmpieffs each
sentence. Then mark the correct choice on your answer sheet.

1-  The book was ~~—---— by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed
2- In Canada, drug users belong to high-risk insurance ——-----—--,
1) entities 2) features 3) categories 4) structures
3-  The victim was able to give the police an -----— --- description of her attacker.
1) accurate 2) ultimate 3) identical 4) equivalent
4- The government passed a law to promote the -----—-- of blacks into white South African
society, .
1) integration 2) foundation 3) coordination =~ 4) adaptation
5-  Small businesses often have great difficulty in --- credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
6- Feminists say that the book was written {rom a male -~ -,
1) objective 2) inspection -3) perspective 4) presumption
7-  Violence is just one of the many problems ———--— in city life.
1) explicit 2) empirical 3) available 4) inherent
8-  Legal requirements state that working hours must not ~~=------ - 42 hours a week.
1) assign 2) exceed 3) utilize 4) undertake
J- - The Highways Department is responsible for the construction and - of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 4) maintenance
10- Maxwell’s responsibilities —------— yours, so youwill be sharing some of the work.
1) overlap 2) affect 3) identify 4) coincide

j PART B: Grammar

Directions: Read r_he fnﬂaﬁrfng passage and der:ide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correci choice on your answer sheet.

Since water is the basis of life, (11) ~===m=em- the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) ====------ sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at {requent
intervals, (14) «—---een-- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

11- 1) composes 2) composing 3) it composes 4) that composing

12- 1) which 2) that 3) there 4) where

13- 1)isto absorb . 2) of absorbing 3) that is to absorb 4) is absorbing

14- 1) scarcely he can 2) he scarce can 3) he can scarcely 4) scarce can he

15- I)for - 2) from 3) upon 4) without
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|Directions: Read the following passages and answer the questions by choosing the best choice (1), |

| (2), (3) or (4). Then mark the correct choice on your answer sheet.

=TT ———rrowraa

PASSAGE 1:

16-

17-

18-

19-

20-

Increasing speed on railways meant that the tourist industry could develop
internationally. To this may be added the development of sea travel. By 1901, the
number of people crossing the English Channel from England to France or Belgium
had passed 0.5 million per year. Shipping companies were anxious to fill cabin space
that was under utilised.

For example, P&O found that the majority of their passengers for India and the Far
East joined the ship at Marseilles. Consequently, they marketed holidays based upon
sea trips from London to Lisbon and Gibraltar. Other companies diverted their older
ships to operate cruises in the summer months.

However, the real age of international mass travel began with the growth of air travel
after World War Two. In the immediate post-war period, there was a surplus of
transport aircraft, such as the popular and reliable Douglas Dakota, and a number of
ex military pilots ready to fly them. They were available for charter flights, and tour
operators began to use them for European destinations, such as Paris and Ostend.

What would the best topic be for the above passage?

- 1) History of Sea Tourism 2) History of Air Travel

3) International Mass Travel 4) Origin of International Tourism

By 1901, the number of travellers who crossed the English Channel from England to France or
Belgium had ——--—-—-- year.

1) occupied 0.5 million every 2) gone by 0.5 million every

3) exceeded five hundred thousand each 4) got through five hundred thousand each

P & O found that most of the travellers for India and the far East ------—— the ship at Marseilles, —--—
they marked holidays based upon sea trips from London to Lisbon.

1) entered - Asaresult  2) met - Subsequently  3) left - As a result 4) reached - Subsequently
Companies ---—---— their older ships to operate cruises in the summer months.

1) distinct from P & O joined 2) other than P & O separated

3) other than P & O redirected 4) distinct from P & O divided

When did the actual period of international mass journey start?

1) At a time when exclusive and unstable airplanes were accessible for charter flights.
2) At a time when a number of ex-military pilots were ready to fly airplanes.

3) At a time when air travel grew during the World War II.

4) At a time when there was a lack of transport aircraft.
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PASSAGE 2:

There has been an upmarket trend in tourism over the last few decades, especially in
Europe where international travel for short breaks is common. Tourists have higher
levels of disposable income and greater leisure time and they are also better-educated
and have more sophisticated tastes. There is now a demand for a better quality
products, which has resulted in a fragmenting of the mass:market for beach vacations;
people want more specialised versions, such as 'Club 18 -30', quieter resorts, family-
oriented holidays, or niche market-targeted destination hotels. As well, people are
taking second short break holidays.

The developments in technology and transport infrastructure such as jumbo jets and
low-budget airlines have made many types of tourism more affordable. There have
also been changes in lifestyle, such as retiree-age people who living as a tourist all the
year round. This is facilitated by internet purchasing of tourism products. Some sites
have now started to offer dynamic packaging, in which an inclusive price is quoted
for a tailor- made package requested by the customer upon impulse.

21- There has been -- trend in tourism over the last few decades, especially in Europe in which
international travel is customary.

1) admirable 2) cheap 3) economical 4) high priced
22-  According to the passage, passengers have a lot more —----——— and much more ——-—-—-- fo spend.
1) earnings - free time  2) profits - holidays 3) gains - freedom 4) benefits - opportunities
23-  According to the passage, the demand for a better quality products has ; , the mass
market for beach vacations has broken into pieces,
1) increased - Furthermore 2) increased - Consequently
3) reduced - Consequently 4) reduced - Furthermore
24-  Progress in technology and transport -——-—- have made many types of tourism more ~—-—-—-,
1) businesses - expensive 2) methods - high-priced
3) systems - economical 4) techniques — low-priced

25-  Which of the following has NOT contributed to tourism?
1) Airlines have low budgets
2) There have been changes in lifestyle
3) People purchase tourism products on Internet
4) Some web sites have begun to offer dynamic packaging

PASSAGE 3:

Winter sports were largely invented by the British leisured.classes, initially at the
Swiss village of Zermatt (Valais), and St Moritz in 1864. The first packaged winter
sports holidays took place in 1902 at Adelboden, Switzerland. Winter sporis were a
natural answer for a leisured class looking for amusement during the coldest season.

Organized sport was well established in Britain before it reached other countries. The
vocabulary of sport bears witness to this: rugby, football, and boxing all originated in
Britain, and even tennis, originally a French sport, was formalized and codified by the
British, who hosted the first national championship in the nineteenth century, at
"Wimbledon. The Fun Ski & Snow Festival, which has been organized annually by
Korea tourism organization since 1998 and participated by about 10,000 tourists from
Asia, is one of the most successful winter tourism products in Asia. The festival
provides a variety of events such as ski and sled competitions, ski and snow board
lessons, performances and recreational activities. Majority of the event participants
are foreign visitors who come from countries with a warm climate that have no snow.
The event offers them opportunities to enjoy winter and winter sports in Korea.
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26- What would the possible topic be for the above passage?

1) Winter Sports 2) Fun Ski & Snow Festival

3) Role of Sports in Tourism 4) Origin of some Winter Sports
2'7- Winter sports were a natural —----—-- during the coldest season.

1) answer for a low class seeking extra enjoyment.

2) response to a poor class wanting additional recreation.

3) reaction to a middle class needing extra refreshment.

4) solution for a high class searching for additional entertainment.

28- According to the passage, tennis —-—--——-,

1) was born and systematized in France 2) developed in France, but organized in Britain

3) emerged and established in Britain 4) was introduced in Britain, but formalized in France
29- Fun ski & snow festival has been organized —----——-,

1) every year and nearly 10,000 tourists have participated in it

2) and almost 10,000 tourists have taken part in it each year

3) and exactly 10,000 people have been involved in it so far

4) each year and totally 10,000 people have engaged in it up to now

30- The festival —-----—- such as ski and sled competitions, ski and snow board lessons, performances and
recreational activities.
1) offers a wide range of competitions 2) presents a great variety of occasions
3) supplies different types of adventures 4) arranges various kinds of happenings
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